ﬁaw R Calculus I Paper M. M. 75
T.3 H. artoA. 1. A TR o ufterar €T | Define Pedal equation.
mﬁ;% Gﬂm%ﬁﬂﬁﬁﬁmmzﬂww | Write the formula
2.y

' : th of the chord of curvature parallel toy- -axis.
i ﬁndg::'{g:qt;c - ]% fadia st j"ﬂzﬁ ST XA I [SE! ferfEa | Write formula
: 3.
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B. Sc./ B. A. (Part-I) MATHEMATICS, 2015/ 3

for finding second differential coefficient ofimplicit functions. _
4. % f(x,y) P I qH f(a, b)aﬁaﬁrmsazsqdm;maﬁmq [Write the
necessary and sufficient conditions for f(a,b)to be an extreme value of f(x, y).
5. T BT S TG ST BT 1 AR BT ol i |
- Explain the method of finding asymptotes by inspection.
6. SgeT farg 1 aiarr fefad 1 Define multiple point.
7. fors @i &6 Provethat: B(m,n)=B (n,m).
8.9 p="1(r)® r=r, T r=r, & W& =Y Pl TG (AT |
Write length of the arc of the curve p = f(r) betweenr=r,andr=r,.
9. T 7T HiTT - Evaluate : '
n asin®
rdodr.-
00 , ' | -
10. Foret Fer-emrer & WATebe 31 A GIREfcid i -
Change the order of integration in the following double integral :
© X

[ | £(x,y) dxdy.

. 00 ‘ : :
qrr-g 555 L 1. (&) @ X +y” = o7 g7 e TGO S DT |
Find the pedal equation ofthe curve X + v =2 &gar /OR
(a) v T 6 r=1(6) 3, 3 forg ot O el T g T g 2T
T . Tt £(0) +£'(6) =0 ERTRY R E |
Prove that the points on the curve r = f(0), the circle of curvature at
which pass through the origin,are given by the equation f(0) +1"(6) =0.

gEb_l_{II..z_ (@T)‘qﬁ_ifuztani\f[l_xi—'_—‘y;;yﬁ} Ry iforT fe - thgn prove that
= ’ Ju _ ]
{ oxéy (l_}_xz_*_yz)s(z o s /OR
(a) AABCH p=sinAsinBsinCﬁWWﬁWﬂﬁm | ‘
InaAABC, find the maxima and minima of p=sinA sin B sin C.
g 1. 3. (a1) =B X+ 3Ky -4y —x+y+3 = 0 & 3T Q3§ i |
Find the asymptotes of the curve X +3xy—4y'—x+y+3=0. @ar/OR
. 2 2

L= 1 iferg | Fi te of the ellipse.
() €T a% | 7 7 1 BT | Find the evolute of the ellipse

zars IV. 4. (a:f)aasy(x2+a2)=a’a?rmeqwsﬁ%mﬁa{gmﬁ@raﬁa
arg & SEdT g/ @iree | Find the volume of solid generated by the
rve y(x' + a’)=a’ aboutitsasymptote. arear / OR
1
. ] _dx . _ [rasy
(a)ggfs}]‘aa?ﬁqﬁ - Show that: G m | T
ot V. . () el e 3 € (Rl % s o o7 o

integral by changing to polar co-ordinates :

revolutionofcu

. fe:Evaluate the following
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4/B. A./B. Sc. (Part-) MATHEMATICS, 2015
1x s : |
I I X gxg¥, |
00 \jx +y
(=) =T e 3 Ereehert BT 9 IRafia i

Change the order of integration in the following integral

a [ 22 .
J f(x,y) dxdy

_ 0 ™22 | _ o : - -
AR~ Part C 1. fgg HIRTT % Waeg y* = 4ax % [l g P aehar-Brewr o
T e & W ST @ §a @) EURIRR] %»I Show that in the parabola

Y’ = dax, the radius of curvature at any point P is twice the length of the
normal intercepted between the curve and the directrix. |

2! % + ga;;_:o 1 BT G (Hesriss § i |

Transform into polarco-ordinates.
3. 19T @ 1 ATE HIRTT : Trace the following curve :
2 _X(x—a)(x—2a). - - ' :
(x+3a) a |

4.9 9 FC : Evaluate: | log(1+ax) 4
| A S .4 - ‘
5. 9YH ST | §o z= 1 —y T e y=x & FRT g1 STa 57 HIRT | Find
the volume in the first octant bounded by the cylinder z=1—y’& plane y=X.

gqr /OR
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